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DIMALL  BIET6A ZetkleA AR92A

JIEAT SNE K4 ® B |GROSS|HDCP | NET |ocrossitit ik
1 (R ek 492 42 8.4 [33.6 i
2 | JFfRE ** 40 40| 4.8 [35.2 YE(E
3 H ok 45 45| 9.6 135.4 3L
4 [BE x 50 50/14.4 |35.6 447
5 [EH % 42 420 6.0 136.0 5 fiL
6 [AJI *xx 53 53116.8 [36.2 6 L
T BEEER k% 46 46| 9.6 [36.4 7hL
8 |dbEF kx 52| 52/15.6 [36.4 8 fir
9 [EAR xx 45 45| 8.4 136.6 9{ir
10 B oxx 431  43] 6.0 [37.0 HE
11 [fA 43 43] 6.0 [37.0
12 fnH 48| 48/10.8 [37.2
EETE 48 48110.8 [37.2
14 et *®x 41] 41] 3.6 |37.4
15 [HHE ek 40/ 40 2.4 137.6
16 |HIAS  ** 46] 46! 8.4 [37.6
17 HP *kx 52 52/14.4 [37.6
18 |EEHH  xx 45| 45 7.2 137.8
19 ST ek 45|  45] 7.2 137.8
20 [BEER e 45| 45| 7.2 137.8 FHE
21 Il = 45 45 7.2 [37.8
22 [/DEY  ax 45|  45] 7.2 137.8
23 R k= 45 45| 7.2 137.8
24 |HT *x 45 45 7.2 [37.8
25 1FF k% 51 51/13.2 137.8
26 [fHE 44]  44] 6.0 138.0
27 [HJIf wk 44, 44| 6.0 |38.0
28 [ kil 44 44] 6.0 [38.0
29 |[EA ek 44 44) 6.0 [38.0
30 [[ElAS k= 44 44] 6.0 38.0 HRE
31 | FE ¢ 50/ 50/12.0 [38.0
32 [gHRK ek 50 50/12.0 ]38.0
33 |[HHE sk 49 49110.8 [38.2
34 FBE wx 421  42] 3.6 [38.4
35 =8  *x 42 421 3.6 [38.4
36 [FH E % 54] 54]15.6 [38.4
37 IRER ok i 54 54/15.6 [38.4
38 ZEF kx 47 47 8.4 138.6
39 |&HME  *x 47]  47] 8.4 138.6
40 [/hEE % 53| 53/14.4 138.6 HRE
41 |RPE ek 53 53/14.4 !38.6
42 |FEME  kx 40! 40! 1.2 |38.8
43 |FEEE  *x 46/ 46] 7.2 138.8
44 R ek 45 45] 6.0 139.0
45 [HPN  kx 45 45 6.0 [39.0
46 185K 45| 450 6.0 139.0
47 |TEA ek 45 45 6.0 [39.0
48 |4cH ek 51]  51/12.0 [39.0
49 |fRH 51/ 51[/12.0 139 0
50 |RZiH Hx 51 51112.0 [39.0 R
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[[=Liva SN K4 " B |GROSS| HDCP | NET | crossiifi: =
51 Igey * 51 51112.0 139.0
52 |EEWHH  ekx 50 50/10.8 139.2
53 | KEF ok 56/ 56/16.8 [39.2
b4 (RRT  #x 55 55/15.6 [39.4
55 |HIHE kekk 55 55/15.6 |39.4
56 |RAEF 48 48| 8.4 139.6
57 |FEA  *k 54| 54]14.4 139.6
58 [{E 54 54]14. 4 139.6
59 [JEAK Rk 47 471 7.2 139.8
60 B ek 53 53/13.2 139.8 RE
61 B =k 52 52/12.0 140.0
62 |E  kk 52 52112.0 140.0
63 |BFHE Kk 45 45| 4.8 140.2
64 |[RAE % 51 51110.8 140.2
65 FH ek 57| 57116.8 [40.2
66 FH ek 50 500 9.6 140.4
67 |J[EF  sekk 50 50| 9.6 |40.4
68 |KJE  kx 49 49] 8.4 140.6
69 | FUE sk 55 55(14.4 140.6
70 |FpFE  kx 55 55(14.4 140.6 FEE
71 g 48] 48] 7.2 [40.8
72 [EEH % 60/  60/19.2 ]40.8
3\ FRE x 53/ 53/12.0 [41.0
74 |REEE xx 53 53/12.0 [41.0
75 K Ex 53 53/12.0 141.0
76 |[1REE sk 61 61120.0 141.0
77 A 61 61/20.0 [41.0
78 BRA A= 46 46| 4.8 [41.2
79 P&k i 51 51 9.6 |41.4
80 [KH #x 51/ 511 9.6 [41.4 FEE
81 KA kk 50/ 50| 8.4 [41.6
82 |EF kk 56 56/14. 4 141.6
83 AR % 55 55/13.2 [41.8
84 [ EM x 61 61/19.2 141.8
85 I 60 60/18.0 [42.0
86 [JERIN  bkk 59 59/16.8 [42.2
87 |ZRH ek 52 52/ 9.6 142.4
88 |[H ek 55| 55/12.0 143.0
89 B 46]  46] 2.4 143.6
90 I/KE #x 51 51| 7.2 143.8 RE
91 |&BF *x 64  64/20.0 [44.0 BB
92 I = | 58/ 58/13.2 [44.8 | |
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